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M.Com. DEGREE EXAMINATION, May 2015
(FIRST YEAR)
140: MANAGEMENT ACCOUNTING

(New Regulations)

[Common with M.Com. Educational Management (NR) / CA(NR) / A&F(NR) / MM (NR),

Entrepreneurship (NR) / Co-Op Mgt(NR) ]

Time: Three hours Maximum: 100 marks
SECTION - A
Answer any FIVE questions (5 x 8 = 40)
1. Describe the characteristics of management accounting?
2.  What are the advantages and limitations of ratio analysis?
3. How to prepare a fund flow statement? Give proforma of fund flow sheet.
4.  You are required to prepare a sales overhead budget Budget from the estimates

given below:

Particulars 3
Advertisement 2,500
Salaries of the sales Department 5,000
Expenses of the sales Department 1,500
Counter salesman salaries and/dearness allowances | 6,000

Commission to counter salesmen-at 1% on their sales.

Travelling salesmen’s commission at 10% on their sales and expenses at 5% on
their sales.

The sales during the period were estimated as follows.

Counter sales | Taveling salesmen’s sales
3 3
80,000 10,000
1,20,000 15,000
1,40,000 20,000

The time taken for a particular operation for operator X in the process division
of a manufacturing concern on three different counts was 24,22 and 27
minutes while that of operator Y was 20,23 and 26 minutes. It has been
ascertained that the rating of X is 70/60 and that of Y is 55/60. Allowance for
fatigue personal needs are assumed at 15%. calculate using the above
information as a base for that particular operation:

1. The standard time, and
2. The time allowed under an incentive allowance of 30% of standard time.
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Explain the “Zero Based budgeting”

A factory manufacturing sewing machines has the capacity to produce 500
machines per annum. The marginal (variable) cost of each machine is ¥200.
each machine is sold for ¥250. Fixed overheads are as 12,000 per annum.
Calculate the break even points for output and sales and show what profit will
result if output is 90% of capacity?

The budgeted and actual sales of a concern manufacturing and marketing a
single product are furnished below.

Budgeted sales | 10,000 units at ¥4 per unit.
Actual sales 5,000 units at ¥3.5 per unit.
8,000 units at ¥4 per unit.

Calculate:

1. Sales price variance
2. Sales volume variance.

SECTION - B
Answer any THREE questions (3 x 20 = 60)

What are the methods used in financial statement analysis?

With the help of the following ratios regarding Indu film factory, draw the
balance sheet of the company for the year 2013.

Current Ratio 2.5
Liquidity Ratio 1.5

Net working Capital %3,00,000
Stock Turnover ratio (cost of sales / closing stock) | 6 times
Gross profit ratio 20%
Fixed asset turnoverRatio(on cost of sales) 2 times
Debt collection period 2 months
Fixed Assets to.shareholders net worth 0.80
Reserve and surplus to capital 0.50

Balance sheet of Arfand B on 31.12.2013 were as follows:

Liabilities 1.1.2013 | 31.12.2013 Assets 1.1.2013 | 31.12.2013
i i i i

Creditors 40,000 44,000 | Cash 10,000 7,000

Mrs.A’s Loan 25,000 -- | Debtors 30,000 50,000

Loan from Stock 35,000 25,000
Bank 40,000 50,000

Capital 1,25,000 1,53,000 | Machinery 80,000 55,000

Land 40,000 50,000

Building 35,000 60,000

2,30,000 2,47,000 2,30,000 2,47,000
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During the year a machine costing 310,000 accumulated depreciation ¥3000
was sold for ¥5,000. The provision for depreciation against machinery as on
1.1.2013 was 325,000 and on 31.12.2013 %40,000. Net profit for the year 2013
amounted to I45,000. You are required to prepare traditional cash flow
statement.

Quality products Itd., manufactures and markets a single product. The
following data are available.

Particulars Per Unit
Materials 716
Conversion costs(variable) | 12
Dealer’s margin 4
Selling price 40
Fixed cost IS5 lakh
Present sales 90,000 units
Capacity sales 60 percent

There is acute competition. Extra efforts are necessary to sell. Suggestions have
been made for increasing sales.

1. By reducing sale price by 5 percent.
2. By increasing dealer’s margin by 25 percent over the existing rate.

Which of these two suggestions you would recommend, if the company desires
to maintain the present profit? Give reasons.

Explain the characteristics and advantages of cash budget and write any five
differences between zerobase budget and-cash budget.
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